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Q.1 Choose the sentence with the correct use of the gerund:

Ans X 1.He enjoys to swim in the ocean.
#< 2. He enjoys swim at the ocean.
& 3. He enjoys swimming in the ocean.
/X 4. He enjoys swim in the ocean.
Question ID : 630680453679
Option 11D : 6306801771700
Option 2 1D : 6306801771703
Option 31D : 6306801771701
Option 4 1D : 6306801771702
Status : Answered
Chosen Option: 3
Q.2 Identify the sentence with the correct use of colons:
Ans 1.1 have many interests: reading, writing, and painting.
X 2.1 have many interests such as: reading, writing, and painting.
Z< 3.1 have many interests: such as reading, writing, and painting.
Z< 4.1 have many interest, such as: reading, writing, and painting.
Question ID : 630680453680
Option 11D : 6306801771706
Option 2 ID : 6306801771704
Option 31D : 6306801771705
Option 4 1D : 6306801771707
Status : Answered
Chosen Option : 4




Q.3
Ans

Comprehension:
Read the given poem and answer the questions based on it:

All'l know is a door into the dark.

Outside, old axles and iron hoops rusting;
Inside, the hammered anvil’s short-pitched ring,
The unpredictable fantail of sparks

Or hiss when a new shoe toughens in water.
The anvil must be somewhere in the centre,
Horned as a unicorn, at one end and square,
Set there immoveable: an altar

Where he expends himself in shape and music.
Sometimes, leather-aproned, hairs in his nose,
He leans out on the jamb, recalls a clatter

Of hoofs where traffic is flashing in rows;

Then grunts and goes in, with a slam and flick

To beat real iron out, to work the bellows.

SubQuestion No : 3
Select the correct summary for the passage:
/< 1. The passage focuses on the traffic outside a blacksmith's workshop.

/X 2. The passage reflects on the unpredictability of working with iron in a forge.

o« 3. The passage.deseribes a blacksmith's workshop and the sounds and sights within it.

/< 4. The passage discusses the symbolism of a unicorn horn in a blacksmith's shop.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453693
6306801771751
6306801771750
6306801771748
6306801771749
Answered

3




Comprehension:
Read the given poem and answer the questions based on it:

All'l know is a door into the dark.

Outside, old axles and iron hoops rusting;
Inside, the hammered anvil's short-pitched ring,
The unpredictable fantail of sparks

Or hiss when a new shoe toughens in water.
The anvil must be somewhere in the centre,
Horned as a unicorn, at one end and square,
Set there immoveable: an altar

Where he expends himself in shape and music.
Sometimes, leather-aproned, hairs in his nose,
He leans out on the jamb, recalls a clatter

Of hoofs where traffic is flashing in rows;

Then grunts and goes in, with a slam and flick
To beat real iron out, to work the bellows.

SubQuestion No : 4
Q.4 What is the significance of the "unpredictable fantail of sparks"” in the poem?
Ans X 1.Itrepresents the beauty of nature

o 2. It symbolizes the'sparks of creativity
/< 3.Itindicates dangerand unpredictability

X 4. 1t signifies the arrival of a new day

Question ID : 630680453694
Option 11D : 6306801771752
Option 2 ID : 6306801771753
Option 31D : 6306801771754
Option 4 ID : 6306801771755
Status : Not Answered
Chosen Option : --




Comprehension:
Read the given poem and answer the questions based on it:

All'l know is a door into the dark.

Outside, old axles and iron hoops rusting;
Inside, the hammered anvil's short-pitched ring,
The unpredictable fantail of sparks

Or hiss when a new shoe toughens in water.
The anvil must be somewhere in the centre,
Horned as a unicorn, at one end and square,
Set there immoveable: an altar

Where he expends himself in shape and music.
Sometimes, leather-aproned, hairs in his nose,
He leans out on the jamb, recalls a clatter

Of hoofs where traffic is flashing in rows;

Then grunts and goes in, with a slam and flick

To beat real iron out, to work the bellows.

SubQuestion No : 5
Q.5 Which phrase best describes the emotional atmosphere of the passage?
Ans X 1.Contentment and satisfaction

/X 2. Determination andresolve
" 3. Regret and longing

#< 4. Irritation.and ‘annoyance

Question ID : 630680453695
Option 11D : 6306801771756
Option 2 ID : 6306801771758
Option 3 1D : 6306801771757
Option 4 1D : 6306801771759
Status : Answered
Chosen Option: 1




Comprehension:
Read the given poem and answer the questions based on it:

All'l know is a door into the dark.

Outside, old axles and iron hoops rusting;
Inside, the hammered anvil's short-pitched ring,
The unpredictable fantail of sparks

Or hiss when a new shoe toughens in water.
The anvil must be somewhere in the centre,
Horned as a unicorn, at one end and square,
Set there immoveable: an altar

Where he expends himself in shape and music.
Sometimes, leather-aproned, hairs in his nose,
He leans out on the jamb, recalls a clatter

Of hoofs where traffic is flashing in rows;

Then grunts and goes in, with a slam and flick
To beat real iron out, to work the bellows.

SubQuestion No : 6
Q.6 What is the significance of the anvil in the poem?
Ans X 1.t symbolizes the door into the dark.

75 2. It represents the unpredictability of nature.
/< 3.1t signifies the passing of time.

o 4. Itis deseribed as an altar of craftsmanship.

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453692
6306801771745
6306801771744
6306801771747
6306801771746
Not Answered




Q.7
Ans

Comprehension:
Read the following passage and answer the questions below.

"In the classic novel 'To Kill a Mockingbird' by Harper Lee, the town of Maycomb serves as a
microcosm of the broader societal issues prevailing in the American South during the 1930s.
Through the eyes of young Scout Finch, we witness the stark realities of racism, injustice, and
the moral complexities that shape our world. Atticus Finch, Scout's father, emerges as a
beacon of moral integrity in a town plagued by prejudice. His unwavering commitment to
defending Tom Robinson, an African American man falsely accused of a crime, challenges
the status quo and raises questions about the nature of humanity and justice. As students
explore this literary masterpiece, they are not only exposed to the art of storytelling but also
prompted to reflect upon the enduring themes of empathy, discrimination, and the power of
one's conscience."

SubQuestion No : 7
What does the town of Maycomb symbolize in the passage?

< 1. A place where justice always prevails
< 2. A peaceful and harmonious community
& 3. Areflection of broader societal issues

/< 4. An idyllic setting for the story

Question ID : 630680453658
Option 11D : 6306801771635
Option 2 1D : 6306801771632
Option 31D : 6306801771633
Option 4 1D : 6306801771634
Status : Answered
Chosen Option : 3
Comprehension:
Read the following passage and answer the questions below.
"In the classic novel ‘To Kill a Mockingbird' by Harper Lee, the town of Maycomb serves as a
microcosm of the broader societal issues prevailing in the American South during the 1930s.
Through the eyes of young Scout Finch, we witness the stark realities of racism, injustice, and
the moral complexities that shape our world. Atticus Finch, Scout's father, emerges as a
beacon of moral integrity in a town plagued by prejudice. His unwavering commitment to
defending Tom Robinson, an African American man falsely accused of a crime, challenges
the status quo and raises questions about the nature of humanity and justice. As students
explore this literary masterpiece, they are not only exposed to the art of storytelling but also
prompted to reflect upon the enduring themes of empathy, discrimination, and the power of
one's conscience."
SubQuestion No : 8
Q.8 What is the central theme of the passage?
Ans X' 1. The history of the American South during the 1930s.
Z5 2. The character development of Scout Finch.
/5 3. The importance of storytelling in literature.
&* 4. The enduring themes of empathy, discrimination, and moral integrity in "To Kill a
Mockingbird."
Question ID : 630680453656
Option 11D : 6306801771627
Option 2 ID : 6306801771625
Option 31D : 6306801771624
Option 4 1D : 6306801771626
Status : Answered
Chosen Option : 4




Comprehension:
Read the following passage and answer the questions below.

"In the classic novel 'To Kill a Mockingbird' by Harper Lee, the town of Maycomb serves

as a

microcosm of the broader societal issues prevailing in the American South during the 1930s.
Through the eyes of young Scout Finch, we witness the stark realities of racism, injustice, and
the moral complexities that shape our world. Atticus Finch, Scout's father, emerges as a
beacon of moral integrity in a town plagued by prejudice. His unwavering commitment to
defending Tom Robinson, an African American man falsely accused of a crime, challenges
the status quo and raises questions about the nature of humanity and justice. As students
explore this literary masterpiece, they are not only exposed to the art of storytelling but also
prompted to reflect upon the enduring themes of empathy, discrimination, and the power of

one's conscience.”

SubQuestion No : 9
Q.9 What does the character of Atticus Finch challenge in the town of Maycomb?
Ans X 1. Educational system

& 2. Status quo and prejudice
/X 3. Economic inequality

/< 4. Local government

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

630680453657
6306801771630
6306801771629
6306801771628
6306801771631
Not Answered

Comprehension:
Read the following passage and answer the questions below.

"In the classic novel ‘To Kill a Mockingbird' by Harper Lee, the town of Maycomb serves as a
microcosm of the broader societal issues prevailing in the American South during the 1930s.
Through the eyes of young Scout Finch, we witness the stark realities of racism, injustice, and

the moral complexities that shape our world. Atticus Finch, Scout's father, emerges as a

beacon of moral integrity in a town plagued by prejudice. His unwavering commitment to
defending Tom Robinson, an African American man falsely accused of a crime, challenges
the status quo and raises questions about the nature of humanity and justice. As students
explore this literary masterpiece, they are not only exposed to the art of storytelling but also
prompted to reflect upon the enduring themes of empathy, discrimination, and the power of

one's conscience."

SubQuestion No : 10
Q.10 What is the primary structure of the passage?
Ans X' 1. Descriptive

o« 2. Expository
/X 3. Persuasive
X 4. Narrative

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453655
6306801771622
6306801771621
6306801771623
6306801771620
Not Answered

Section : Part 1 General Odia




Comprehension:
PORee CQiracy AR G2l AIReeI gga aaa Geig |

ag
691G AQEMRY 60 A9 QF,

& 2760 60I'0g cleml AQ!
60I'QU-QAEIER 671'Q 9L,
Qe 2IR6R 99 ¢S 19, |

SubQuestion No : 1
Q.1 98 aQYraea 661" AGRIA AQ QIQIAIR QIQLE 6QIRE?
Ans X 1.2¢9
o 2.99
X 3.949
X 4909

Question ID : 630680452635
Option 11D : 6306801767574
Option 2 ID : 6306801767572
Option 31D : 6306801767571
Option 4 ID : 6306801767573
Status : Answered
Chosen Option : 2

Comprehension:

AeRee ayraty O@ Qe AIRYQI 99 e deig |
ag

691G MQEMRY 60 A9 Q8

@ 2060 60I'0g claml AQ!
66I'Q0-008I6R 671 0L,
Qe 260 @9 TP AL |

SubQuestion No : 2
Q.2 Q%" aeqad Qe
Ans o 1. QIO
X290
X 3.09
X4 aM@

Question ID : 630680452634
Option 11D : 6306801767567
Option 2 1D : 6306801767568
Option 31D : 6306801767569
Option 4 ID : 6306801767570
Status : Answered
Chosen Option: 1




Comprehension:
PORee CQiraty AR G2l AIReeI gga aaa Geig |

ag
6916 AQEHRY 60 A9 QF,

& 2766 60I'0g cleml AQ!
60I'QU-QAEIER 671'Q 9L,
Qe 2IR6R 99 ¢S 19, |

SubQuestion No : 3
Q.3 9@ AQYIrEI6ER “6RIT MIQENTY 6QIR QIRIG GRAANR?

Ans X 1.200Q
X 2.e0
X 3.9
o 4.QQ

Question ID : 630680452632
Option 11D : 6306801767562
Option 2 ID : 6306801767559
Option 31D : 6306801767561
Option 4 1D : 6306801767560
Status : Answered
Chosen Option : 4

Comprehension:

Aeee airaty O@ Qe AIRYQI 99 e deg |
ag

691G MQEHRY 60 A9 Q8

& 2760 60I'0g claml AQ!
66I'Q0-008I6R 671 0L,
Qe 2IR6e0 @9 TP AL |

SubQuestion No : 4
Q.4 "afe"a FUAQIGERIR G K617
Ans X 1.Q%
X 2.8q
o 3. Gd
X 4.94

Question ID : 630680452633
Option 11D : 6306801767563
Option 2 ID : 6306801767566
Option 31D : 6306801767565
Option 4 1D : 6306801767564
Status : Answered
Chosen Option: 3




Comprehension:
RMEe ety 0@ G2l AIRYQI 9gR aaa Baig |
QA G RINNAG!

2IE QA6 AUQSTE, FIFIAG! FFER UIPR | ARARER AIRIGA! 6202T, AR ATPER Agol 62aeiE,
RIRAICR QAAYIAITER QU BRER Jor! F2INIRE- FAR ARG- FIS19E! JOFE 689 | Z6R6r QAIRG-
RIO1AE! IRIEARER AAAL 61N 20161 | 660 628 6RR 2016 2Ieq FIBRIRE 6904 AR AIF | 264
6REORFR 6RAR ARTIE AJ6A 2IE! | 67 H6 Boag OIF JI91R ARICIp FgRIRY; 678 g8l ARy
0IReg 1e° 6pQR AEiF QU6R QQdl QERIRY |

SubQuestion No : 5
Q.5 6RE6ERE 6RAR AGIC QY CIFAREF - 6 ARQI AIR?
Ans X 1.010100!
W 2. 60Q4
< 3.21eQ
X 4 Qal

Question ID : 630680452588
Option 11D : 6306801767411
Option 2 ID : 6306801767413
Option 31D : 6306801767414
Option 4 ID : 6306801767412
Status : Answered
Chosen Option : 2

Comprehension:
RAMEe Y6ty R G2l AIRYRI 9ga aaa Baig |
QY G QIPIAE!

2IE A6 AUQSTE, FIB1AG] BFER IR | AFRARER AlRISA! 6262E, AQ AFPER @gol 2RI,

RIQIRIER QURYIAIFER QU 2R6R ORI FLINIRR- §UR QING- RIG1K6! JOTE 629 | 26R6R QIRG-
RIG1061 IRI6ARER 2AFE 601R 2016 | 600 608 6aeR 2010 2IPg IRRIRY 6dRSI IR MG | 2RY
6REERFA 6RAM ARAIE AJEA 26! | 67 He Aoag OF JIo1R AR10Ip FgRIRE; 678 g8l gLy
01927 1e° 6aeR UgF AJ6a Qadl QsRIRY |

SubQuestion No : 6
Q.6 QIR RER ORI FAQE?
Ans X 1.Q0@
X2, de4Q
&'3.00%
<4 Qe

Question ID : 630680452586
Option 11D : 6306801767404
Option 2 ID : 6306801767406
Option 31D : 6306801767405
Option 4 ID : 6306801767403
Status : Answered
Chosen Option : 3




Comprehension:
RMEe ety 0@ G2l AIRYQI 9gR aaa Baig |
QA G RINNAG!

2IE QA6 AUQSTE, FIFIAG! FFER UIPR | ARARER AIRIGA! 6202T, AR ATPER Agol 62aeiE,
RIRAICR QAAYIAITER QU BRER Jor! F2INIRE- FAR ARG- FIS19E! JOFE 689 | Z6R6r QAIRG-
RIO1AE! IRIEARER AAAL 61N 20161 | 660 628 6RR 2016 2Ieq FIBRIRE 6904 AR AIF | 264
6REORTR 6RAR ARTIE AJ6A 2IE! | 67 H6 Boag OIF JIo1R AR10Ip FgRIRY; 678 g8l gLy
0IReg 1e° 6pQR AEiF QU6R QQdl QERIRY |

SubQuestion No : 7
Q.7 QI9IQJU6Q Qadl QEag?
Ans X 1.@8Q
o 2.g¢a
X 3.99
X 4. Q86

Question ID : 630680452587
Option 11D : 6306801767409
Option 2 ID : 6306801767408
Option 31D : 6306801767407
Option 4 ID : 6306801767410
Status : Answered
Chosen Option : 2

Comprehension:
RAMEe Y6ty R G2l AIRYRI 9ga aaa Baig |
QY G QIPIAE!

2IE Afl6g AUQSTE, FIBTAG] BFER IR | AYRARER AIRIOA! 626RE, AQ AFPER @gol 62aeiE,

RIQIRIER QURYIAIFER QU 2R6R ORI F2INIGR- FUR QING- RIG1K6! JOTE 629 | 26R6R QIRG-
Q191061 IRI6RRER 2AFe 601R 2016 | 600 608 6aeR 2010 2IPg PIRRIRY 6dRSI IR MG | 2RY
6REERFA 6RAR ARAIE QJEA 26! | 67 A6 Aoag 0@ JIv1R AR10Ip FgRIRY; 678 g8l agLq
01827 1e° 6aeR UgF AJ6a Qadl QsRIRY |

SubQuestion No : 8
Q.8 2l6A 2AIF @&l AR MIGR?
Ans & 1.Q10100!
2.2, Q190!
X3 aqie
K4 QR

Question ID : 630680452585
Option 11D : 6306801767400
Option 2 ID : 6306801767399
Option 31D : 6306801767401
Option 4 1D : 6306801767402
Status : Answered
Chosen Option : 1




Q.9 €eRIA-ILIQ 66184 AQ Q41?
Ans X 1.¢201a)

o 2. F90190!
X 3. 2169,
X 4. QL1
Question ID : 630680452616
Option 11D : 6306801767506
Option 2 ID : 6306801767504
Option 3 1D : 6306801767503
Option 4 ID : 6306801767505
Status : Answered
Chosen Option : 2
Q.10 ¢ g€ &A@ ?-9al & gRIQ QIRY?
Ans X 1.99090@
o 2. 9§QI09
25 3. 2681w
& 4. Qgeee
Question ID : 630680452617
Option 11D : 6306801767508
Option 2 ID : 6306801767509
Option 3 ID : 6306801767507
Option 4 ID : 6306801767510
Status : Answered
Chosen Option : 2
Section : Part 1 Generdl Knewledge and Current Affairs
Q.1 A place where there is no hospital will see a .
Ans X 1. declineinthe mortality rate
/< 2. risein gender equality
& 3urise.in the mortality rate
25 4. rise in the employment rate
Question ID : 630680453369
Option 11D : 6306801770485
Option 2 ID : 6306801770487
Option 3 1D : 6306801770484
Option 4 ID : 6306801770486
Status : Answered

Chosen Option :

1




Q.2

India jumps 2 spots higher, and is now ranked

as per Climate Change Performance

Index (CCPI, 2023) published by German Watch, New Climate Institute and Climate Action

Network International based in Germany.

Ans X 1.1st
o 2.8th
X 3.9th
< 4.18th
Question ID : 630680453345
Option 11D : 6306801770389
Option 2 1D : 6306801770390
Option 31D : 6306801770388
Option 4 ID : 6306801770391
Status : Not Answered
Chosen Option : --
Q.3 Bangladesh does not share land border with:

Ans

& 1. Sikkim
X 2. Mizoram
75 3. Meghalaya

< 4. Tripura
Question ID : 630680453387
Option 11D : 6306801770558
Option 2 ID : 6306801770557
Option 31D : 6306801770556
Option 4 ID : 6306801770559

Status : Answered
Chosen Option : 1
Q.4 The Rowlatt Act (Black Act) was passed on March 10, 1919, authorizing the government to
imprison or confine, without a trial, any person associated with seditious activities. This led
to
Ans «" 1. JALLIANWALA BAGH MASSACRE

X 2. CHAMPARAN SATYAGRAH

2 3.KAKORI CASE

< 4.CRIPPS PLAN
Question ID : 630680453375
Option 11D : 6306801770510
Option 2 ID : 6306801770508
Option 31D : 6306801770509
Option 4 ID : 6306801770511

Status : Answered

Chosen Option :

1




Q.5 The Human Development Index (HDI) is a statistical tool used to measure a country's overall

in its social and economic dimensions.
Ans ¥ 1. achievement

< 2. netincome
25 3. factor income

/< 4. gross income

Question ID : 630680453363
Option 11D : 6306801770463
Option 2 ID : 6306801770461
Option 3 1D : 6306801770462
Option 4 ID : 6306801770460
Status : Answered
Chosen Option: 1
Q.6 Sandton Convention Centre in (country), hosted the 15th BRICS summit in 2023.
Ans X 1. South America
X 2. Brazil
&" 3. South Africa
X 4. Ukraine
Question ID : 630680453339
Option 11D : 6306801770364
Option 2 1D : 6306801770366
Option 31D : 6306801770365
Option 4 ID : 6306801770367
Status : Answered
Chosen Option : 3
Q.7 The process of removal of President may begin in of the Parliament.
Ans X 1.Upper House
/X 2. Lower House
#< 3. Upper House and Lower House simultaneously
o 4. Either of the two houses
Question ID : 630680453381
Option 11D : 6306801770533
Option 2 ID : 6306801770532
Option 3 ID : 6306801770535
Option 4 ID : 6306801770534
Status : Answered
Chosen Option : 4




Q8 A is an organism that mostly consumes decaying biomass, such
as meat or rotting plant material.

Ans X 1.carnivore
< 2. herbivore
¥ 3. scavenger

/5 4. microorganism

Chosen Option :

Question ID : 630680453357
Option 11D : 6306801770436
Option 2 ID : 6306801770437
Option 3 1D : 6306801770439
Option 4 ID : 6306801770438
Status : Answered
Chosen Option: 3
Q.9 Identify the leader of Odisha who revolted against Britishers in 1857 revolt.
Ans  # 1. Surendra Sai
X 2.VD Savarkar
Z< 3. Kunwar Singh
< 4. Tantya Tope
Question ID : 630680453351
Option 11D : 6306801770415
Option 2 ID : 6306801770414
Option 31D : 6306801770412
Option 4 ID : 6306801770413
Status : Answered
Chosen Option : 1
Q.10 A& 2023 60 RYITERE AR FAINYQRI FYR Agaleq AFTIA1 ARAAGEG A6 «aQ!
mAY6Q, QURY 61 6ANRR “ST leQﬁg@ 2llg] aaael 6R6REQTEP 6dIglIF1” QIR
2160 BRI QIR 'QIQQﬁgQ aAQ G@GQGRCIGCISI 6dIeQIq AR *G6Q |
Ans o 1.6l AQT QRRI0 @184 FaQ”
K 2.geli 91 @010 6d8l Faq”
X 3."gel1 A1 @eRIG 6aQ! Fa”
< 4."ge g1 Ae@el fag”
Question ID : 630680453333
Option 1 ID : 6306801770340
Option 2 ID : 6306801770342
Option 3 ID : 6306801770341
Option 4 ID : 6306801770343
Status : Not Answered

Section : Part 1 Reasoning Ability




Q.1  Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the odd letter-cluster.

Ans X 1. UTS
X 2. PON
X 3 EDC
« 4 LIK

Question ID : 630680453307
Option 11D : 6306801770236
Option 2 ID : 6306801770237
Option 31D : 6306801770238
Option 4 ID : 6306801770239
Status : Answered
Chosen Option : 4

Q.2  select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the second word
is related to the first word.

SIKKIM : GANGTOK :: NAGALAND : KOHIMA :: UTTAR PRADESH : ?

Ans X 1. PRAYAGRAJ
X 2. KANPUR
X 3. VARANASI
4 LUCKNOW

Question ID : 630680453301
Option 11D : 6306801770213
Option 2 ID : 6306801770212
Option 3 1D : 6306801770215
Option 4 ID : 6306801770214
Status : Answered
Chosen Option: 3

Q.3  Thiee Statements are given followed by two conclusions numbered I and II. Assuming the statements to be true, even if they seem to

be at variance with commonly known facts, decide which of the conclusions logically follow(s) from the statements.
Statements:

Statement I: All pens are pencils.
Statement II: All pencils are erasers.
Statement TIT: All erasers are notebooks.
Conclusions:

Conclusion I: All pens are notebooks.
Conclusion II: Some erasers are not pens.

Ans X 1. Neither conclusion I nor II follows

7 2. Only conclusion II follows
+ 3. Both conclusions T and 11 follow

X 4. Only conclusion I follows

Question ID : 630680453325
Option 11D : 6306801770311
Option 2 ID : 6306801770309
Option 3 1D : 6306801770310
Option 4 1D : 6306801770308
Status : Answered
Chosen Option: 3




Q.4

Select the option that is related to the third number in the same way as the second number is related to the first number.
624:566::208:7?

Ans  oC 1. 105
¥ 2. 150
X3 158
X 4100
Question ID : 630680453277
Option 11D : 6306801770117
Option 2 ID : 6306801770118
Option 3 ID : 6306801770119
Option 4 ID : 6306801770116
Status : Answered
Chosen Option: 2
Q.5 Sixfriends A, B, H, I, M and N are sitting on a bench facing north. H is sitting exactly in between A and M. I is not at the end. B is
sitting to the immediate right of M. N is not sitting at the right end.
How many people are sitting to the right of I?
Ans 1. 4
X2 2
X33
X4 1
Question ID : 630680453319
Option 11D : 6306801770286
Option 2 ID : 6306801770284
Option 31D : 6306801770285
Option 4 1D : 6306801770287
Status : Answered
Chosen Option: 1
Q.6 How many numbers are there in the given series that are immediately preceded by a symbol and immediately followed by a number?
1&27308!6205@1%!564
Ans  oC 1. 4
X 21
S
<4 2
Question ID : 630680453283
Option 11D : 6306801770140
Option 2 ID : 6306801770143
Option 31D : 6306801770141
Option 4 ID : 6306801770142
Status : Answered
Chosen Option : 3




There are 133 boxes kept one above the other. at Wi e the position o e box from the bottom whose position from the top is
. h boxes kep bove the other. What will be the position of the box from the b hose position from the top i
27th?

Ans 1107
X 2. 108
X 3. 106
X 4105

Question ID : 630680453313
Option 11D : 6306801770262
Option 2 ID : 6306801770263
Option 3 1D : 6306801770261
Option 4 ID : 6306801770260
Status : Answered
Chosen Option : 1

Q.8 Inacertain code language, if MILK is coded as LGKJ, POTATO is coded as OMSYSM, then what will BRINJAL be coded as?

Ans 1. AQGMIYK
X 2. AQIMIIBK
X 3. AQHMIZK
X 4 CSJOKBM

Question ID : 630680453295
Option 11D : 6306801770188
Option 2 ID : 6306801770191
Option 31D : 6306801770189
Option 4 1D : 6306801770190
Status : Answered
Chosen Option : 3

Q.9 Subham says Surbhi's mother is the mother of my only daughter. How is Surbhi related to Subham?

Ans X 1. Gjster
X 2. .Mother
« 3. Daughter

X 4 Wife

Question ID : 630680453289
Option 11D : 6306801770167
Option 2 ID : 6306801770166
Option 31D : 6306801770164
Option 4 ID : 6306801770165
Status : Answered
Chosen Option: 3




Q.10 Ifthe positions of the first and the third digits within each number are interchanged, which of the following will be the hundred digit
of the second-highest number?
846 345 508 856 245

Ans @1 G
X209
<3 7
X4 8

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status
Chosen Option :

630680453271

6306801770092
6306801770095
6306801770093
6306801770094

: Answered

1

Section : Part 1 Computer Literacy

Q.1 Which computer component stores data even when the computer is turned off and is
considered non-volatile memory?

Ans ¥ 1. ROM (Read-Only Memory)
< 2. Pen drive
75 3. RAM (Random Access Memory)
#< 4. CPU (Central Processing Unit)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680452716
6306801767879
6306801767878
6306801767876
6306801767877
Answered

1

Q.2 61T QHIRT YO8 9 ARRAIAG 661F] Fadic QQR, 6ANYAIN CHRIRAING Q6 @Fl 6REE'FT

Q8ig Q6RQR AIRENS | 9T 6616 AIR ACIRMGIS AUQ 6QE! 66'6GIEAIRT QALY 6297
Ans o 1, TIREIQ 2AER QLAY
K 2.600R QEQ6RT
X 3. 0661R 299IAeQ MAR (DSL)
/K 4. QI6ERIRS REAEAT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680452704
6306801767831
6306801767829
6306801767828
6306801767830
Not Answered




Q.3 What does the term "Data Mining" refer to in the context of IT?
Ans X 1.Extracting valuable minerals from computer components

#< 2. Cleaning and organizing databases

o« 3. Extracting useful patterns and information from large datasets

/< 4. Encrypting sensitive data

Question ID : 630680452710
Option 11D : 6306801767853
Option 2 ID : 6306801767855
Option 31D : 6306801767852
Option 4 1D : 6306801767854
Status : Answered
Chosen Option : 3
Q.4 What is the purpose of version control systems (VCS) in software development?
Ans " 1. To manage different versions of source.code
25 2. To track internet browsing history
Z< 3. To control the version of the operating system
/5 4. To optimize program execution
Question ID : 630680452722
Option 11D : 6306801767901
Option 2 1D : 6306801767903
Option 31D : 6306801767900
Option 4 1D : 6306801767902
Status : Answered
Chosen Option: 3
Q.5 What is the purpose of virtual memory in operating systems?
Ans  # 1. Provide a larger address space than the physical memory
/< 2. Enhance graphical user interfaces
/< 3. Increase physical RAM
/X 4. Extend the lifetime of hardware components
Question ID : 630680452728
Option 11D : 6306801767926
Option 2 ID : 6306801767927
Option 31D : 6306801767924
Option 4 1D : 6306801767925
Status : Answered
Chosen Option : 1

Section : Part 1 Child Development Learning Curriculum and Assessment




Q.1 How are students typically assessed in a core curriculum framework?
Ans & 1. Through a combination of assignments, projects, and exams.
Z< 2. Only through group projects.

Z< 3. By their participation in extracurricular activities.

#5 4. Solely through final exams.

Question ID : 630680452869
Option 11D : 6306801768489
Option 2 ID : 6306801768490
Option 31D : 6306801768491
Option 4 1D : 6306801768488
Status : Answered
Chosen Option : 1
Q.2 What is a primary purpose of implementing a core curriculum in educational institutions?
Ans  # 1. To guarantee all students receive a foundational knowledge base.
< 2. To reduce the number of subjects offered.
/< 3. To emphasize sports and arts-only.
#< 4. To ensure uniformity in grading systems.
Question ID : 630680452863
Option 11D : 6306801768465
Option 2 1D : 6306801768466
Option 31D : 6306801768467
Option 4 1D : 6306801768464
Status : Answered
Chosen Option: 1
Q.3 Which statement best represents the nature vs. nurture debate in child development?
Ans X 1. Nature refers to learning, and nurture to genetic factors.
&" 2. Nature refers to heredity, and nurture refers to environment.
#< 3. Nurture has a minor role, while nature is dominant.
#5 4. Both heredity and environment play negligible roles.
Question ID : 630680452917
Option 11D : 6306801768683
Option 2 1D : 6306801768680
Option 31D : 6306801768681
Option 4 ID : 6306801768682
Status : Answered
Chosen Option : 2




Q.4 QQeI @@ 2IKE6Y (competency-based approach), _____ QQ6Q §QQ 60Q2II |

Ans " 1.009 67617 QU6 OAG!
X 2. ARIQE @EIFEl (6R6RAIM EagIEer)
5 3. 09010 HIR (2B6AGRIN Feme)

2 4. 899l Al 209100 62Q291 AFIL,

Question ID : 630680452845
Option 11D : 6306801768394
Option 2 ID : 6306801768395
Option 3 1D : 6306801768392
Option 4 ID : 6306801768393
Status : Answered
Chosen Option: 1
Q.5 QYR FRg A gg 9ge FAQIERER, FIPRIQT &'81?
Ans X 1.9¢ 69¢
X 2.999 894,
o 3.\Q QM QAR 29I Fag
X 4.20% QaQ
Question ID : 630680452893
Option 11D : 6306801768586
Option 2 ID : 6306801768585
Option 3 1D : 6306801768587
Option 4 ID : 6306801768584
Status : Answered
Chosen Option: 1
Q.6 How does a positive school environment primarily benefit a child's socio-emotional
development?
Ans " 1. By promating healthy peer relationships and a sense of belonging.
#< 2. By focusing solely on textbook knowledge.
75 3. By ensuring the child has high academic grades.
5 4.By.emphasizing competition among students.
Question ID : 630680452923
Option 11D : 6306801768705
Option 2 ID : 6306801768707
Option 3 ID : 6306801768704
Option 4 1D : 6306801768706
Status : Answered

Chosen Option :

1




Q.7 Inimplementing inclusive education, how do regular assessments enhance student

learning?
Ans X 1. By reducing hands-on learning.
/< 2. By focusing solely on grades.
& 3. By identifying areas of improvement and adapting instruction.

/< 4. By increasing competition among students.

Question ID : 630680452875
Option 11D : 6306801768515
Option 2 ID : 6306801768514
Option 3 1D : 6306801768513
Option 4 ID : 6306801768512
Status : Answered
Chosen Option: 3
Q.8 CCA @'daga" (continuous) faiq A e§e aauanrg?
Ans X 1.609p 6a0gQ QAIg AAN6R ARIER S |
7 2. 219219171974 QI¥e RIS |
¥ 3. 506 6 adyidgfie RIS |
X4 RITIORO! QUEQ 6R6RERER FLIFIR 60Q! |
Question ID : 630680452887
Option 11D : 6306801768563
Option 2 ID : 6306801768562
Option 3 1D : 6306801768561
Option 4 ID : 6306801768560
Status : Answered
Chosen Option: 3
Q.9 Why might adolescents experience heightened emotional sensitivity and mood swings?
Ans X 1. They are seeking attention.
Z< 2. They are naturally more aggressive.
& 3. Rapid hormonal changes.
X 4.They resist adult authority.
Question ID : 630680452911
Option 11D : 6306801768656
Option 2 ID : 6306801768658
Option 3 1D : 6306801768657
Option 4 ID : 6306801768659
Status : Answered
Chosen Option: 3




Q.10 Which factor is essential to consider for effective blackboard writing?
Ans X 1.Using cursive and artistic writing styles.

&" 2. Ensuring legibility and structured presentation.
75 3. Writing as quickly as possible.

25 4. Filling up the entire board without erasing.

Question ID : 630680452905
Option 11D : 6306801768633
Option 2 1D : 6306801768634
Option 31D : 6306801768632
Option 4 ID : 6306801768635
Status : Answered
Chosen Option : 2
Q.11 The objective of the Udaan initiative, launched by the Central Board of Secondary Education
(CBSE) in India, was to:
Ans X 1.Increase enrollment of girl students in primary education.
&" 2. Mentor and facilitate girl students to pursue higher education in engineering and
technology.
#< 3. Provide free bicycles to girl students.
/X 4. Reduce the dropout rate of girl students.
Question ID : 630680452881
Option 11D : 6306801768539
Option 2 1D : 6306801768538
Option 31D : 6306801768537
Option 4 1D : 6306801768536
Status : Answered
Chosen Option : 2
Q.12 Which developmental milestone is typically expected for children aged 7-11, during the
concrete operational stage in Piaget's theory of cognitive development?
Ans X 1. Egocentric thinking with a strong focus on oneself.
#< 2. Basic reflexes and sensory exploration.
" 3. Ability to think logically about concrete events and classify objects.
75 4. Abstract thinking and moral reasoning.
Question ID : 630680452929
Option 11D : 6306801768731
Option 2 ID : 6306801768729
Option 31D : 6306801768730
Option 4 1D : 6306801768728
Status : Answered
Chosen Option: 3




Q.13 Why is it crucial to tailor curriculum objectives to the learner's context?
Ans X 1.It encourages memorization over understanding.

#5 2.1t promotes a centralized education system.
o 3. It helps make learning more relevant and relatable.

< 4.1t ensures all students study the same material.

Question ID : 630680452899
Option 11D : 6306801768611
Option 2 1D : 6306801768610
Option 31D : 6306801768609
Option 4 1D : 6306801768608
Status : Answered
Chosen Option: 3
Q.14 What is a common criticism of learner-centered approaches?
Ans X 1.Doesn't involve any student participation
¥ 2. Itis very individual specific and lacks'structure
75 3. Relies solely on textbook-based learning
#< 4. Overemphasis on rote memorization
Question ID : 630680452851
Option 11D : 6306801768418
Option 2 1D : 6306801768417
Option 31D : 6306801768419
Option 4 1D : 6306801768416
Status : Answered
Chosen Option : 2
Q.15 Which document globally upholds and elaborates the rights of a child?
Ans X 1. Universal Declaration of Human Rights.
&” 2. UN Convention on the Rights of the Child (CRC).
/< 3. UN Convention on Climate Change.
/X 4. World Health Organization Charter.
Question ID : 630680452857
Option 11D : 6306801768440
Option 2 ID : 6306801768442
Option 31D : 6306801768441
Option 4 1D : 6306801768443
Status : Answered
Chosen Option: 2

Section : Part Il Subject Contents




1 geel 23 § g4 2esI geIerR 6969 2

Ans X 1. 908

20
X3 676
X 4 740
Question ID : 630680453580
Option 1 ID : 6306801771331
Option 2 ID : 6306801771329
Option 31D : 6306801771328
Option 4 ID : 6306801771330
Status : Answered
Chosen Option: 2
Q.2 gad gegl frIER QIZlaY 1455 259 | YEER LPHYIG YIER D°HUl FISI 20 F6M, ZI6F SISIPR GIFES 6 997 GITIEE
GISGH 230 AIR2IR | FIORA L°HUIT 69667
s 1245
X2 175
X3 275
X 4 250
Question ID : 630680453592
Option 11D : 6306801771376
Option 2 ID : 6306801771377
Option 3 ID : 6306801771379
Option 4 ID : 6306801771378
Status : Answered
Chosen Option : 1
Q3 . 15 15 5 4
Find thevalue of — of 28 + — = — -
7 6 3 3
Ans 3 5 1
ol
b
361
N2
5
360
p G F—
11
361
X4 —
15
Question ID : 630680453586
Option 11D : 6306801771353
Option 2 ID : 6306801771352
Option 31D : 6306801771354
Option 4 ID : 6306801771355
Status : Answered

Chosen Option :

1




Q4 Gg g 609T6R Gk 699l 9N (ine symmetry) 49° gJéll 9BQIAY (rotational symmetry) 21& ?

Ans

X1 H9e°Z
X2 H,Z499°0
3 0¥9°H
X47496°0

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

: 630680453604
1 6306801771424
1 6306801771427
: 6306801771426
1 6306801771425
: Answered

03

Q.5 Two books together weigh 4 kg 300 g. If the weight of the first book is 2 kg 200 g, what is the weight of the second book?

Ans

X1 1kg200g
X2 2kg200g
X3 1lkgloog
4 2kgl00g
Question ID : 630680453562
Option 11D : 6306801771259
Option 2 ID : 6306801771258
Option 3 ID : 6306801771256
Option 4 ID : 6306801771257
Status : Answered
Chosen Option : 4
Q6 Rased on the given pattern identify the missing number.
Ans x 1..79
X2 80
< 3. 81
4 T4
Question ID : 630680453556
Option 1 ID : 6306801771233
Option 2 ID : 6306801771234
Option 3 ID : 6306801771235
Option 4 ID : 6306801771232
Status : Answered

Chosen Option : 4




Q.7  Varshadrove 52 km 242 m away from her house on the first day and reached a place 94 ki 222 m away from her house on the next

Ans

day. What distance did she travel on the second day?

¢ 1. 41 km 980 m
<252 km 880 m
A3 42 km 880 m
A 4 52 km 980 m

Question ID : 630680453568
Option 11D : 6306801771283
Option 2 ID : 6306801771280
Option 3 ID : 6306801771281
Option 4 ID : 6306801771282
Status : Answered
Chosen Option: 1
Q.8 ¢ A5 =
13 cm QUILIT @¢I¥ 4R P60 §Hl% dllsDiqN qgla crRIER Yol 6R6E?
Ans X121 cm
X2 24 cm
X339 cm
¥ 4 26 cm
Question ID : 630680453598
Option 1 ID : 6306801771401
Option 2 ID : 6306801771400
Option 31D : 6306801771403
Option 4 ID : 6306801771402
Status : Answered
Chosen Option : 4
Q.9 Anuj scored 42 out of 80 in mathematics. Convert his marks into percentages
Ans 1. 52.5%
X 2.40%
<'8:.50.5%
X 4 55.6%
Question ID : 630680453574
Option 11D : 6306801771307
Option 2 ID : 6306801771306
Option 31D : 6306801771305
Option 4 ID : 6306801771304
Status : Answered

Chosen Option :

1




Q.10 The given bar graph shows the production of shirts by six different stores. What is the total number of shirts produced by store B and
store D?

J3E3BEEEEES

Number of shirts produced

Stores

Ans 1. 3382
X 2. 3340
X 33310
X 4 3421

Question ID : 630680453550
Option 11D : 6306801771208
Option 2 ID : 6306801771210
Option 3 ID : 6306801771211
Option 4 ID : 6306801771209
Status : Answered
Chosen Option : 1

Q.11 Who was the first president of India?
Ans X 1. Jawahar Lal Nehru

#< 2. Zakir Hussain
#< 3. Pratibha Devisingh Patil
& 4. Dr. RajendraPrasad

Question ID : 630680453228
Option 11D : 6306801769921
Option 2 ID : 6306801769923
Option 31D : 6306801769920
Option 4 ID : 6306801769922
Status : Answered
Chosen Option : 4

Q.12 Solid waste can be divided into broad categories, such as -
Ans X 1. Domestic and Industrial waste

/X 2. Plastic and Non-Plastic waste
&" 3. Biodegradable and Non- Biodegradable

/X 4. Commercial and Non-commercial waste

Question ID : 630680453216
Option 11D : 6306801769875
Option 2 1D : 6306801769873
Option 31D : 6306801769872
Option 4 1D : 6306801769874
Status : Answered
Chosen Option: 3




Q.13 is an insoluble protein that is produced in response to bleeding and is the major
component of the blood clot.

Ans o 1. fibrins
< 2. thrombokinase
25 3. thrombin

/5 4. prothrombin

Question ID : 630680453234
Option 11D : 6306801769944
Option 2 ID : 6306801769946
Option 31D : 6306801769947
Option 4 ID : 6306801769945
Status : Not Answered
Chosen Option : --
Q.14 The circle that divides the day from night on the globe is called the .
Ans X 1.Line of light
&* 2. Circle of illumination
/< 3. Circle of shadow
X 4. Line of illumination
Question ID : 630680453240
Option 11D : 6306801769971
Option 2 ID : 6306801769968
Option 3 ID : 6306801769969
Option 4 ID : 6306801769970
Status : Answered
Chosen Option : 2
Q.15 Odisha accounts for % of total area of India.
Ans  # 1.4.87
X 2.587
< 3.3.87
X 4.6.87
Question ID : 630680453264
Option 11D : 6306801770065
Option 2 ID : 6306801770066
Option 3 1D : 6306801770064
Option 4 ID : 6306801770067
Status : Not Answered

Chosen Option :




Q.16 As per Koppen's Classification, what type of climate is in Odisha?
Ans X 1. Subtropical Highland climate

/X 2. Tropical rainforest
Z< 3. Humid Subcontinental Climate
o 4. Tropical Savannah

Question ID : 630680453252
Option 11D : 6306801770017
Option 2 ID : 6306801770016
Option 3 ID : 6306801770019
Option 4 ID : 6306801770018
Status : Answered
Chosen Option : 1
Q.17 Who is credited for starting the green revolution in India?
Ans " 1. M.S. Swaminathan.
#< 2. Subhash Palekar
25 3. Tribhuvandas Kishibhai Patel
/X 4. Verghese Kurien
Question ID : 630680453258
Option 11D : 6306801770040
Option 2 ID : 6306801770042
Option 3 1D : 6306801770043
Option 4 ID : 6306801770041
Status : Answered
Chosen Option: 1
Q.18 The is a model of global mean sea level that is used to measure precise surface
elevations.
Ans X 1.oval
X 2. annulus
« 3. geoid
X 4. ellipsoid
Question ID : 630680453246
Option 11D : 6306801769992
Option 2 ID : 6306801769993
Option 3 ID : 6306801769995
Option 4 ID : 6306801769994
Status : Not Answered

Chosen Option :




Q.19 NGT stands for:
Ans X 1. National Glow Tribunal

&" 2. National Green Tribunal
75 3. New Green Tribunal

< 4. National Green Testimony

Question ID : 630680453210
Option 11D : 6306801769850
Option 2 ID : 6306801769851
Option 31D : 6306801769848
Option 4 1D : 6306801769849
Status : Answered
Chosen Option : 2

Q.20 These Hazards are caused by inappropriate and cumbersome postures, leading to damage
or pain in muscles and tendons known as:

Ans X 1. Electrical Hazards
" 2. Ergonomic Hazards
/< 3. Physical Hazards
/< 4. Chemical Hazards

Question ID : 630680453222
Option 11D : 6306801769896
Option 2 1D : 6306801769899
Option 31D : 6306801769898
Option 4 ID : 6306801769897
Status : Answered
Chosen Option : 3

Q.21 Fill in the blank with the correct adverb.
The skilled gymnast performed the routine

Ans o 1. effortlessly
< 2.ruggedly
< 3. awkwardly
X 4. timidly

and gracefully, impressing the judges.

Question ID : 630680453742
Option 11D : 6306801771922
Option 2 ID : 6306801771923
Option 31D : 6306801771921
Option 4 ID : 6306801771920
Status : Answered
Chosen Option: 1




Q.22 Fill in the blank with the correct collective noun.

The of fish moved in a synchronized manner, creating a mesmerizing underwater
display.
Ans X 1.assembly
X 2. army
X 3.swarm
&" 4. school
Question ID : 630680453748
Option 11D : 6306801771946
Option 2 ID : 6306801771945
Option 31D : 6306801771944
Option 4 ID : 6306801771947
Status : Answered
Chosen Option : 4
Q.23 Fill in the blank with the correct irregular verb.
The team a thrilling victory in the championship game.
Ans X 1.winning
o 2. won
< 3. win
X 4. wined
Question ID : 630680453760
Option 11D : 6306801771994
Option 2 ID : 6306801771992
Option 31D : 6306801771993
Option 4 1D : 6306801771995
Status : Answered
Chosen Option : 2
Q.24 Complete the sentence with the appropriate article to make it grammatically correct.
He plays _____ piano beautifully.
Ans X 1.a
o 2.the
X 3.some
X 4.an
Question ID : 630680453730
Option 11D : 6306801771873
Option 2 ID : 6306801771874
Option 31D : 6306801771875
Option 4 ID : 6306801771872
Status : Answered
Chosen Option : 2




Q.25 Complete the sentence with the correct form of the tense:
They promised they the report by the end of the week.

/< 1. submits

Ans
o 2. will submit
25 3. submitted

/X 4. submit
Question ID : 630680453778
Option 11D : 6306801772065
Option 2 ID : 6306801772066
Option 3 ID : 6306801772067
Option 4 ID : 6306801772064
Status : Answered
Chosen Option : 2
Q.26 Fill in the blank with the correct preposition.
The athlete sprinted the finish line, securing first place in the race.
Ans o 1.towards
25 2. within
X 3. beside
< 4. around
Question ID : 630680453754
Option 11D : 6306801771968
Option 2 ID : 6306801771971
Option 3 ID : 6306801771969
Option 4 ID : 6306801771970
Status : Answered
Chosen Option : 1
Q.27 Choose the correct punctuation from the given options:
The meeting is scheduled for 2:00 PM everyone should attend.
Ans X 1.full stop
/5 2. question mark
&" 3.semi colon
#X-4.colon
Question ID : 630680453766
Option 11D : 6306801772016
Option 2 ID : 6306801772018
Option 3 1D : 6306801772017
Option 4 ID : 6306801772019
Status : Answered
Chosen Option : 3




Q.28 Choose the correct punctuation from the given options:
She inquired whether he had received her email

Ans X 1.comma
o 2. full stop
25 3. question mark
/5 4. colon

Question ID : 630680453772
Option 11D : 6306801772041
Option 2 ID : 6306801772040
Option 3 1D : 6306801772042
Option 4 ID : 6306801772043
Status : Answered
Chosen Option : 2

Q.29 The word given in the brackets defines the modification of the noun. Based on this
understanding fill in the blank with the correct adjective from the given options.
The (thrilling) mountains were covered with a thick blanket of snow, creating a

breathtaking winter landscape.
Ans X 1.obnoxious

/< 2. encouraging
/X 3. captive
" 4. exhilarating

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453736
6306801771899
6306801771897
6306801771896
6306801771898
Answered

4

Q.30 Complete the sentence with the correct form of the tense:

Before the storm hit, they all their preparations.

Ans X 1.are completing
X 2.complete
w* 8=had completed

75 4. completes

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

630680453784
6306801772091
6306801772088
6306801772090
6306801772089
Answered

3




Q.31 G6qIg FIQ 6RAT ATRIA ?

Ans X 1.QG0I
K 2,001
X 3.Qe
o 4. 89
Question ID : 630680453839
Option 11D : 6306801772310
Option 2 ID : 6306801772309
Option 3 1D : 6306801772308
Option 4 ID : 6306801772311
Status : Answered
Chosen Option : 4
Q.32 ‘Q9’ AeFa daq1e dedq &g1d |
Ans X 1.00%
o 2.2
X 3.6l
&~ 4. 6lg
Question ID : 630680453876
Option 1 1D : 6306801772459
Option 2 ID : 6306801772457
Option 3 ID : 6306801772456
Option 4 ID : 6306801772458
Status : Answered
Chosen Option : 4
Q.33 'AQ’ 619Q FAQIG IR 6QAG ?
Ans X 1.200
< 2,098
X 3.4
o 4000
Question ID : 630680453866
Option 11D : 6306801772416
Option 2 ID : 6306801772418
Option 3 ID : 6306801772419
Option 4 ID : 6306801772417
Status : Answered
Chosen Option : 4




Q.34 QI 9QF 60 QU 6QI616Q 6RIQR ?

Ans X 1.2Q
X 2.2
X 3.2d
o 4.2Q
Question ID : 630680453857
Option 11D : 6306801772381
Option 2 ID : 6306801772383
Option 31D : 6306801772382
Option 41D : 6306801772380
Status : Answered
Chosen Option : 4
Q.35 Gl Queleq QIF2a RIgFQl - QF aeFa 212 6841 ?
Ans o 1. P6@ QU6R 691 JRI6l ARRAIR ARYRER QU6 691 JRIEl @RQ!
< 2. QIe6 P15 RIES!
X 3. Q6 KRR 629!
X 4 Q8@ Qdea ¢ IFel
Question ID : 630680453883
Option 11D : 6306801772487
Option 2 ID : 6306801772486
Option 3 ID : 6306801772485
Option 4 1D : 6306801772484
Status : Answered

Chosen Option :

1

Q.36 290 AAE - L1 624 JRIAQ QF ?
Ans X 1.99199

o 2. 501219

< 3. 9RRINR

X 4.904049

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :
Chosen Option :

630680453878
6306801772465
6306801772464
6306801772466
6306801772467
Answered

2




Q.37 ‘gdiqr’ sefa gef geua fda e ?

Ans X 1.g8-Ge+
o 2. Qa2
5 3.9Q+eiq
< 4.g8+aiq
Question ID : 630680453862
Option 11D : 6306801772403
Option 2 ID : 6306801772402
Option 3 ID : 6306801772401
Option 4 1D : 6306801772400
Status : Answered
Chosen Option : 2
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Question ID : 630680453875
Option 11D : 6306801772452
Option 2 ID : 6306801772455
Option 3 ID : 6306801772453
Option 4 1D : 6306801772454
Status : Answered
Chosen Option: 3
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Ans X 1.00Q
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Question ID : 630680453845
Option 11D : 6306801772334
Option 2 ID : 6306801772335
Option 31D : 6306801772332
Option 41D : 6306801772333
Status : Answered
Chosen Option : 4
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Question ID : 630680453868
Option 11D : 6306801772426
Option 2 ID : 6306801772424
Option 31D : 6306801772427
Option 4 ID : 6306801772425
Status : Answered
Chosen Option : 2

Section : Part Il Pedagogy

Q1 Which of the following is a conjecture?

Ans

XA 1. There does not exist integers x, v. z such that x> + yj =7
X 2. 2 is an even prime number.

X 3. Product of two even numbers is an even number.
o 4

Every even integer greater than 4 can be expressed as the sum of two odd primes.

Question ID : 630680453525
Option 11D : 6306801771111
Option 2 1D : 6306801771110
Option 31D : 6306801771108
Option 4 1D : 6306801771109
Status : Answered
Chosen Option : 1

Q.2 Which of the following is considered a higher aim of school mathematics education?

Ans X 1. To develop the skills in measurements

2.
To develop the child’s resources to think and reason mathematically

X 3. To develop the child’s number operations

X 4. To develop the concept of decimals

Question ID : 630680453519
Option 11D : 6306801771087
Option 2 ID : 6306801771084
Option 31D : 6306801771085
Option 4 1D : 6306801771086
Status : Answered
Chosen Option : 2
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Question ID : 630680453537
Option 11D : 6306801771159
Option 2 ID : 6306801771157
Option 31D : 6306801771158
Option 4 ID : 6306801771156
Status : Answered
Chosen Option : 1
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Question ID : 630680453513
Option 11D : 6306801771063
Option 2 ID : 6306801771060
Option 31D : 6306801771062
Option 4 1D : 6306801771061
Status : Answered
Chosen Option : 2
Q.5  Ateacher wants to introduce the Trigonometry fopic. For that, instead of asking directly about a right-angled triangle, she asks
students the following puzzle: *A tree stands exactly on the bank of the river of width 60 m. How will you measure the height of the
tree without going there?”
This approach helps:
Ans__ X 1. in increasing the speed of solving problems
« 2. inimproving learners' sensitivity towards learning
< 3. to score more marks
X 4. in enhancing the memory
Question ID : 630680453531
Option 11D : 6306801771135
Option 2 ID : 6306801771134
Option 31D : 6306801771132
Option 4 ID : 6306801771133
Status : Answered
Chosen Option : 2
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Question ID : 630680453198
Option 11D : 6306801769803
Option 2 ID : 6306801769800
Option 3 1D : 6306801769801
Option 4 ID : 6306801769802
Status : Answered
Chosen Option : 3
Q.7 Which methodology benefits most from the integration of science and social science in
EVS?
Ans X 1. Memorizing historical dates
o” 2. Case studies that encompass both scientific and societal perspectives
75 3. Rote learning
< 4. Practical experiments only
Question ID : 630680453186
Option 11D : 6306801769755
Option 2 ID : 6306801769754
Option 3 ID : 6306801769752
Option 4 ID : 6306801769753
Status : Answered
Chosen Option: 2
Q.8 Which pedagogical term in EVS suggests learning that emphasizes real-world problem-
solving through extended projects, fostering depth over breadth in understanding
environmental issues?
Ans X 1. Concept Mapping
" 2. Project-based Learning
/X 3.Summative Assessment
25 4. Formative Assessment
Question ID : 630680453192
Option 11D : 6306801769776
Option 2 ID : 6306801769778
Option 31D : 6306801769779
Option 4 ID : 6306801769777
Status : Answered
Chosen Option: 2




Q.9 Which term describes a teaching strategy in EVS where students' prior knowledge is
connected to new concepts, facilitating deeper understanding?

Ans ¥ 1. Scaffolding

#< 2. Anchoring

#< 3. Chaining
/< 4. Bridging
Question ID : 630680453204
Option 11D : 6306801769827
Option 2 ID : 6306801769826
Option 3 ID : 6306801769825
Option 4 ID : 6306801769824
Status : Answered
Chosen Option : 4
Q.10 How does the integration of science and social science benefit the study of EVS?
Ans X 1.1t focuses only on scientific experiments.
/X 2. 1tis only concerned with social traditions.
&" 3. It provides a balanced view 0f human and natural interactions.
X 4.1t delves deep into historical events without considering their environmental impact.
Question ID : 630680453180
Option 11D : 6306801769728
Option 2 1D : 6306801769731
Option 3 1D : 6306801769729
Option 4 ID : 6306801769730
Status : Answered
Chosen Option : 3
Q.11 Which is not an element of public speaking?
Ans X 1.Feedback
/X 2. Audience
o 3. Capitalization
< 4. Channel
Question ID : 630680453626
Option 11D : 6306801771510
Option 2 ID : 6306801771508
Option 3 ID : 6306801771511
Option 4 ID : 6306801771509
Status : Not Answered

Chosen Option :




Q.12 Which is not a barrier of listening?
Ans X 1.language

X 2. Noise
Z< 3. Information overload

¥ 4. Cloudy day

Question ID : 630680453620
Option 11D : 6306801771485
Option 2 ID : 6306801771486
Option 31D : 6306801771484
Option 4 1D : 6306801771487
Status : Answered
Chosen Option : 1
Q.13 Which one of the following is not a principle of second language teaching?
Ans X 1. Knowing every student in the class well
o 2. Dominating classroom discussions
#< 3. Creating motivation to learn the language
/5 4. Creating a congenial classroom environment
Question ID : 630680453638
Option 11D : 6306801771559
Option 2 1D : 6306801771557
Option 31D : 6306801771558
Option 4 1D : 6306801771556
Status : Answered
Chosen Option : 2
Q.14 Which of the following tasks is a part of introducing a prose lesson?
Ans X 1. Teaching vocabulary
X 2. Giving assignment
/< 3. Testing application
o" 4.Jesting previous knowledge
Question ID : 630680453644
Option 11D : 6306801771581
Option 2 1D : 6306801771580
Option 31D : 6306801771583
Option 4 1D : 6306801771582
Status : Answered
Chosen Option : 4




Q.15 Which of the following is a good before-class strategy to use while teaching language to
non-native speakers?

Ans X 1. Provide students with contacts for ESL tutoring if required.
#< 2. Invite students to come to office for one-to-one interactions.
25 3. Provide assignments as homework for better practice.

&" 4. Provide students with directed readings and a list of key concepts.

Question ID : 630680453632
Option 11D : 6306801771534
Option 2 ID : 6306801771535
Option 31D : 6306801771533
Option 41D : 6306801771532
Status : Answered
Chosen Option: 1
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Question ID : 630680453796
Option 11D : 6306801772137
Option 2 1D : 6306801772139
Option 31D : 6306801772136
Option 41D : 6306801772138
Status : Answered
Chosen Option : 4
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Question ID : 630680453816
Option 11D : 6306801772218
Option 2 ID : 6306801772216
Option 31D : 6306801772219
Option 4 ID : 6306801772217
Status : Answered
Chosen Option : 4
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Question ID : 630680453804
Option 11D : 6306801772168
Option 2 ID : 6306801772169
Option 3 1D : 6306801772170
Option 4 ID : 6306801772171
Status : Answered
Chosen Option : 2
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Question ID : 630680453823
Option 11D : 6306801772244
Option 2 ID : 6306801772246
Option 3 ID : 6306801772247
Option 4 ID : 6306801772245
Status : Not Answered
Chosen Option : --
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Question ID : 630680453820
Option 11D : 6306801772235
Option 2 ID : 6306801772234
Option 3 ID : 6306801772233
Option 4 ID : 6306801772232
Status : Answered
Chosen Option : 4




